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I Analyzing the disputes between o'nan/v™ regarding 12385 1238 MR and M2 2N of DN’
a o v. 1 equates (777 NMIN”) DNMI22 to (737 TWYN") TWYN
b w": o1 are called "nman”; just as NMAN is 1198Y IMn, similarly w”yn
i But: he doesn’t accept the wp’n to w"yn=> no avn of Ny’
I Analyzing the mo°R of nkmva MY’2 and Mpon for someone who eats them if the food is &nY (“1n¥Y NRMV”)
a  V.2-xnoannn niva 89 — whether the confessor or the food was &nv
i Source for prohibition:
1 quankmv-v.3
2 xYy nRMY - v. 1 (.99 RY) contra v. 4 (i.e. that which is 9nm in v. 4 — ¥ 19NOM RNV — is MOR in v. 1)
III  Non-application of mp5n for nrkMVA NP2 to MMIN: v. 2 — N excludes NMIN
Challenge: use 1nn to exclude w1 (no MR to destroy NrmLI)
Defense: v"p from wyn
Challenge: use vp from 7wyn >nn1n as well
Block: v1nn excludes
Challenge of selection: why exclude nn1In and not WNp? (WTP: ©"IYPI9); (NMIN: 17aNN)
Answer: ©"yp1a outweighs r"ann
Answer2: n13 trumps all
i Nonetheless, there is an nwy MNoR — from v. 4
IV Parenthetic note ("w& "1): we could have proven that 77w Rin from X:1 itself, since he left out the applicability of nmn
D119 to all years of nvnw and their lack of access to 1179
V  Revisiting the question of (a2w) Twyna 7y
a  Proof (moorY): (8n>11): Pyox keep him from eating 7wyn ,0w7p ,noa ,NN1IN
i Answer: 70Yn means 1NN 1WYN
ii  Challenge: superfluous — already mentions owp
1  Block: also mentions w1, Noa
2 Defense: both are needed; if only said noa, wouldn’t apply to nw1p, since m»y is explicit there; if only
DwTp, we would interpret the term as a reference to noa
iii ~ Rather: 7wyn refers to pWRY Twyn, following n”y who regards it as 015 MoOR
b Proof (mo>RY): Xn»1a ruling that 57y may not partake of 2 mawyn (137 Twym NN WwYN?)
i Rejection: refers to 7"yn, following n™
¢ Proof (mo'RY): presentation of 21nn ,»"12v ,1R each of whom have split access to Twym NN ,n1a — 57y is omitted
i Rejection: belongs to school of p” that equates Yp::Xnv < may not perform n12
ii  Question: who disagrees with ™
iii Answer: the p”n of (1R1n) ¥9221 qOY 127 — who permits a 2"nn in Ma (perhaps he allows Y1y as well [?])
d  Support (moRY): pnx> 1 explicitly forbids, via yan::1nn from noa (from vv. 1/6)
i background: 3 occurences of 1nn (v. 6):
1  foritself
2 for v"n (so that it’s mam; otherwise, it could be challenged since noa is more severe)
3  for whatever purpose the nwy was repeated (to make it an nwy or to extend burning past v"1)
ii  background: 3 occurences of 1nn (v. 1):
1 foritself
2 to permit burning nrnvVIY NMIN
3 to permit anointing with Xnv1w 7wWYn 1NV (only use on a nn is banned; parallel use on a 'n is permitted)
(a) must be a permitted use of the oil itself (1n) and not selling it for e.g. ©3>15n
challenge: still must be mam from both sides, otherwise it could be challenged as above
f  answer: the allowance to burn n8nVIY NMIN is learned from v. 7; 2 occurences are now NN
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